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JoA9T A T QF G, AT H B

There are three sections A, B and C in the paper.

A7 T § 597 G&r 1 & G491 10 T % I ST | FF W U 3% HT 8 TG
T} 10 97T FGAB TFR F T F 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

S aft & 8 ol & @ Freg 6 oA & IR Y | TedE FRT 3 3 HE T
$THT 5 T5/50 WG] B IR GIIT |

Answer any 6 questions out of the 8 questions in section B. Each question

carries 3 marks and to be answered within 5 lines/50 words.

JFT 36 yol 7 @ 181 4 yot & FE ST | T F9T 8 I F & T
§7T 15 15/150 951 8 I o | :

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

WW%WW#WWWWW/

Solve all the questions of a section consecutively together.
277 syrTan 4 ST 817 %1 R 3 S FgaIe & A= 8 |
Only English version is valid in case of difference in both the languages.

YR - T
SECTION - A

SrcRTen qTuer S Shetl ShIVT ¢ SR fehalT ST & —

(a)

(©

R XL
= _1 — = -1 —
¢ = tan X, (b) o¢=tan

Xy R

¢o=cos' R (d ¢=cos™ X,

(1 0f8) P.T.O.
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(ii)
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(iv)

v)

(2 0f8) 1148 ‘

The phase angle ¢ of inductive circuit is expressed as
=t -1 _& b P -1 ﬁ
@ o=t ) ¢=tan” R
- _

() ¢=cos! ‘EL | (d) ¢=cos! X&L
Aoft STTE A X, go Aar 2
(a) wfcamen s (b) ST %
(c) wiar wfeema & d) I=*
In series resonance X, equals to
A(a) _ Impedance (b) Admittance
(¢) Capacitive reactance (d) Zero
’ﬁvﬁRLCQﬁqara?raﬁm‘cﬁmﬁ-rf HEI$:3 Lacéwﬁ@mwﬁmm&
8 ST ST B —
(@) 2f, (b) 1

£ f
© 7 G

Resonance frequency of series RLC circuit is f,. If the value of R, L & C is doubled,

then new resonance frequency will be

(@ 2f, - b f,

f ‘ f
© 7 @ 3
e 4 TR R FANRTT ST I hear & —
(a) HaA TH ah?n (b) @ Gﬁ—anq
(c) M dieeand (d) R e
Three phase 4 wire star connected generator generates
(a) only one voltage (b) two voltages
(c) three voltages ‘ (d) four voltages
Frepett wer Tt vgfer  efmee o qou B 2
(2) /3 o %t G (b) 37O % URT
(c) & U (d) %gﬂﬂ % T

In three phase star connected system, line current equals to
(a) \/_ 3 times phase current (b) 3 times phase current

1
(¢) phase current (d) % times phase current
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i) éaqﬁqaﬁ,whﬁﬁ%mmm@ﬁmﬁﬁm%—

(a) S o TS T (b) Seedt UTd s HH T

(c) ey & AH W (d) R g 6 e )

In a closed network, the direction of voltage drop due to resistance depends on
(a) connection of batteries (b) value of potential drop

(c) value of resistor (d) direction of current flow

(vii) @mﬁ%sﬁm&hﬁm{ﬁhﬁwm%
(a) mmﬁeﬁmeﬁa%mmuﬁﬂué

(b) Tk 3G deed e % =rer Aoft wfede @
() T 3ATey YT HId oh T FHAIR ey &
(d) ST A A HIS Tl
A practical voltage source is represented by
(a) An ideal voltage source with parallel resistor.
(b) Anideal voltage source with series resistor.

(c) Anideal current source with parallel resistor.
(d) None of the above

(viii) STETRYIOT SRl T T I @
(a) Sieedn TOFTH (b) < aH awl |
(c) wifaTornH (d) ST H A BE T
Superpositioﬂ theorem is not applicable
(a) In calculation of voltage (b) Inbilateral elements
(¢) Inpower calculation (d) None of the above

(ix) fory 3 e 3 SR oA S Ry 88—

In the given circuit, the Thevenin equivalent resistance Ry, 18—

10 10
— ANV — AAMN—0 A
N 1A
lOV"‘L—
T— 20
5
(@ 3Q ® 30
© 29 @) e

P.T.O.
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C(x) TRV AT i R

(a) TR Riga ™ (b) g frgr ®

(o) e g W (d) Yl o Rgr w
Superposition theorem is based on |
(a)  Reciprocity principle (b)  Duality principle
(¢)  Non-linearity principle (d) . Linearity principle (I1x10)

T —+ff
SECTION - B
2. RLC 3ft uftwey # o et =) awzmed |
Explain the band width of series RLC circuit, 3

3. Z=(5 +2j)erf%mmﬁqasumaa°f%m¢Frw<130+zoopaﬁwa 50 & Yer T &
STST TR R, T shif

(i) 9w & gmn

(i) =feRT TorieR

An impedance Z = (15 + 2j) Q is connected to an a.c. circuit of (130 + 200 J) volt, 50
Hz supply. Calculate : (i) Current in circuit (i1) Power factor. A3)

4. e HARIG frehett 7 % e @it a9 el U A ey w0 iR |
Derive relation between line current and phase current for delta connected three phase
system. 3)
5. = e ufay & wma Hifve
(i) < R
(i) fer TR
In the circuit given below, determine —

(1) Line current

(i) Power factor 1%x2)
‘[L )

T oo
652

400V

L%
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6. o3 aRwe i qed dieedl S T shi |

Determine equivalent voltage source of the given circuit.

ﬂA

4Q

+

_T e

24V

S e aer  forg o wfiehe fefee |

Write loop equation for the given circuit.

10V 200 WV 250
D Lo 0
100

20V +
] — ‘-—wvxr—

e
50 I;D 30V

—T‘ iy 50
50V

8. et S ol HEETE |

Explain Reciprocity theorem.

9.

In the given circuit, determine the value of load res

transfer to it.
2Q

%ﬁ@qmﬁ,mm(RL)wa&wﬁw%mmmW|

istance (R,) for maximum power

1148

3

()

(€)

(€))

P.T.O.
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SECTION - C

10. (i) @WWﬁmmlokHz%aﬁwﬁmmﬁmzokm%l-sna
- HINTT (a) 3 37 Wit sy (b) T[TST TUTTR |

11.

12:

(i)

)

(i)

)

(i)

A resonance circuit have band width 10 kHz and low half power frequency 120
kHz. Determine (a) high half power frequency (b) Quality factor. 2x2)

@awaﬁmésgmﬁmwmmaﬁﬁq !

Determine current in 8 Q resistor by source conversion technique. “@
6QQ 1 8Q 10 Q2

i e

lsz —’-IZOV

Frepetl R = Seer wafia Tgf i gemt Hif |

Compare three phase star and delta connected system. “)
(12 + j9) 3w it H1 =1 & wafera Seer TR w1 400 V 55 | ST R, 3|
sHifsre |

(a) T (b) P wfd

A balanced delta connected load of (12 +j9) Q per phase is connected to 400 A%
supply. Determine

(a) Line current (b) Total power 2x2)
TR § et ST 1 g TR iR |
Derive formula for star to delta transformation. ‘ “)

fe2 ™ aftuy 3 e R Rifrd 4 0 Sierler & R (1) %1 51 51a BT |

In the given circuit, determine current (I) flow in 4 Q resistor by Nodal Analysis
method. i @)

I 4Q
>—AAVW

SA(}) §2Q | 5Q§ dZA |
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Write statement of maximum power transfer theorem.
iy e fd e afaer s i : ‘
. Determine in circuit given below :
(a)  SRrehc ifaR ST & QTS Ry 1AM
Value of load R for maximum power transfer.

(b) R, Y Sfershad Wfet b1 AH

Value of maximum power to R; .

(c) T&dl
Efficiency
10 Q2 10 QQ 10 Q
+
250V 'i‘—‘ 10 Q2 20 A R,

4. G P . e

Explain half power frequencies in series RLC circuit.

(ii) ek FuS foreet FfeiEr 40 O & e 0.75 3 Y 250 =, 503&3@%

TeT & ST T R, T i — (a) T G, (b) e TOT |

1148 .

@

2x3)

(C))

A coil of resistance 40 € and inductance of 0.75 H is connected to 250 volt,‘ 50

Hz single phase supply. Determine — (a) Line current (b) Power factor.

15. @) wﬁwﬁaww%&mws@ml

Write statement of Norton’s theorem and explain it.

(ii) ﬁa@mﬁzgm%mﬁmm@mmw |

2x2)

(C))

In the given circuit; determine voltage across 2 €2 resistor by Norton’s theorem. “@)

:‘il[i L2
2V 7T

10A 1Q 2V

L
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